
10 tJ fzf;F ghlj;jpy; nky;y fw;Fk; khzth;fs; ftdj;jpy;
nfhs;s Ntz;bait:

ngh. ,yl;Rkp fhe;jd;> gl;ljhhp
Mrphpah; (fzpjk;)

mt;it khefuhl;rp ngz;fs; Nky;epiyg;gs;sp>
kJiu

tpdhtpy; ftdj;jpy; nfhs;s Ntz;ba
thh;j;ij

vOj Ntz;ba #j;jpuk;

$l;Lj;njhlh; thpir
𝒕𝒏 = 𝒂 + (𝒏 − 𝟏)𝒅; 𝒏 =

𝒍 − 𝒂

𝒅
+ 𝟏; 𝒅 = 𝒕𝟐 − 𝒕𝟏

$l;Lj;njhlh; thpir kw;Wk; $Ljy;
(300f;Fk; 600f;Fk; ,ilNa) 𝑺𝒏 =

𝒏

𝟐
𝟐𝒂 + (𝒏 − 𝟏)𝒅 ; 𝑺𝒏 =

𝒏

𝟐
𝒂 + 𝒍

ngUf;Fj; njhlh; thpir
𝒕𝒏 = 𝒂𝒓𝒏−𝟏; 𝒓 =

𝒕𝟐
𝒕𝟏

ngUf;Fj; njhlh; thpir kw;Wk; $Ljy;
(3+33+333+…) my;yJ (5+55+555+…) 𝑺𝒏 =

𝒂(𝒓𝒏 − 𝟏)

𝒓 − 𝟏
; 𝑺∞ =

𝒂

𝟏 − 𝒓
mLj;jLj;j vz;fs; jug;gl;L mjd;
$Ljy; 𝒏෍ =

𝒏(𝒏 + 𝟏)

𝟐
Xw;iwgil vz;fs; jug;gl;L mjd;
$Ljy; 𝑺𝒏 = 𝒏𝟐 (𝒐𝒓) 𝑺𝒏 =

𝒍 + 𝟏

𝟐

𝟐

mLj;jLj;j vz;fspd; th;f;fq;fs;
jug;gl;L mjd; $Ljy; (my;yJ) Nufh
fzf;F

𝒏𝟐 =
𝒏(𝒏 + 𝟏)(𝟐𝒏 + 𝟏)

𝟔
෍

mLj;jLj;j vz;fspd; fzq;fs;
jug;gl;L mjd; $Ljy; 𝒏𝟑 =

𝒏(𝒏 + 𝟏)

𝟐

𝟐

෍

,Ugbr; rkd;ghLfspd; jPh;T (#j;jpu
Kiw) 𝐱 =

−𝐛 ± 𝐛𝟐 − 𝟒𝐚𝐜

𝟐𝐚
%yq;fspd; jd;ik ∆ = 𝐛𝟐 − 𝟒𝐚𝐜

∆ = 𝟎,vdpy; %yq;fs; nka; kw;Wk; rkk;
∆ > 𝟎, vdpy; %yq;fs; nka; kw;Wk; rkky;y
∆ < 𝟎, vdpy; %yq;fs; nka;ay;y

𝛂 &𝛃my;yJ %yq;fs; 𝛂 + 𝛃 =−
𝐛

𝐚
; 𝛂𝛃 =

𝐜

𝐚
;

x2-(%yq;fspd; $Ljy;)x+%yq;fspd; ngUf;fy;=0
epiu epuy; khw;W mzp ATmy;yJ BT. epiuiaAk; epuiyAk; khw;wp vOjTk;

I2. 𝐈𝟐 =
𝟏 𝟎
𝟎 𝟏

Njy;]; Njw;wk; my;yJ mbg;gil
tpfpj rk Njw;wk;

A

D E
𝑨𝑫

𝑫𝑩
=

𝑨𝑬

𝑬𝑪

B C

𝐃𝐄 ∥ 𝐁𝐂 𝑨𝑫

𝑫𝑩
=
𝑨𝑬

𝑬𝑪

Nfhz ,Urkntl;bj; Njw;wk; E

A
𝑩𝑫

𝑫𝑪
=

𝑨𝑩

𝑨𝑪

B D C
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ngh. ,yl;Rkp fhe;jd;> gl;ljhhp
Mrphpah; (fzpjk;)

mt;it khefuhl;rp ngz;fs; Nky;epiyg;gs;sp>
kJiu

∠𝐀 d; ,Urkntl;b 𝑩𝑫

𝑫𝑪
=
𝑨𝑩

𝑨𝑪
gpjhfu]; Njw;wk; my;yJ ngsjadhh;
Njw;

A

B D C
ep&gpf;f: 𝑨𝑩𝟐 + 𝑨𝑪𝟐 = 𝑩𝑪𝟐

Kf;Nfhzj;jpd; gug;G 𝟏

𝟐

𝒙𝟏 𝒙𝟐 𝒙𝟑
𝒚𝟏 𝒚𝟐 𝒚𝟑

𝒙𝟏
𝒚𝟏

rJu myFfs;

𝟏

𝟐
𝒙𝟏(𝒚𝟐 − 𝒚𝟑) + 𝒙𝟐(𝒚𝟑 − 𝒚𝟏) + 𝒙𝟑(𝒚𝟏 − 𝒚𝟐) r.m

xNu Nfhl;by; miktd 𝟏

𝟐
𝒙𝟏(𝒚𝟐 − 𝒚𝟑) + 𝒙𝟐(𝒚𝟑 − 𝒚𝟏) + 𝒙𝟑(𝒚𝟏 − 𝒚𝟐) = 𝟎

ehw;fuj;jpd; gug;G 𝟏

𝟐

𝒙𝟏 𝒙𝟐 𝒙𝟑
𝒚𝟏 𝒚𝟐 𝒚𝟑

𝒙𝟒
𝒚𝟒

𝒙𝟏
𝒚𝟏

rJu myFfs;

𝟏

𝟐
(𝒙𝟏 − 𝒙𝟑)(𝒚𝟐 − 𝒚𝟒) − (𝒙𝟐 − 𝒙𝟒)(𝒚𝟏 − 𝒚𝟑) r.m

rha;T my;yJ nrq;Nfhz Kf;Nfhzk;
my;yJ ,izfuk; my;yJ rhptfk; 𝐦 =

𝐲𝟐 − 𝐲𝟏
𝐱𝟐 − 𝐱𝟏

; 𝐦 = 𝐭𝐚𝐧𝛉; 𝐦 =−
𝐚

𝐛
Nfhl;bw;F ,iz

𝐦 =
𝐲𝟐 − 𝐲𝟏
𝐱𝟐 − 𝐱𝟏

; 𝐦𝟏 = 𝐦𝟐

Nfhl;bw;F nrq;Fj;J
𝐦 =

𝐲𝟐 − 𝐲𝟏
𝐱𝟐 − 𝐱𝟏

; 𝐦𝟏𝐱𝐦𝟐 =− 𝟏

Neh;Nfhl;bd; rkd;ghL 𝐲 = 𝐦𝐱 + 𝐜; 𝐲 − 𝐲𝟏 = 𝐦(𝐱 − 𝐱𝟏)
𝒚 − 𝒚𝟏
𝒚𝟐 − 𝒚𝟏

=
𝒙 − 𝒙𝟏
𝒙𝟐 − 𝒙𝟏

;
𝒙

𝒂
+
𝒚

𝒃
= 𝟏

eLf;Nfhl;bd; rkd;ghL
𝐌

𝐱𝟏 + 𝐱𝟐
𝟐

,
𝐲𝟏 + 𝐲𝟐

𝟐
;

𝒚 − 𝒚𝟏
𝒚𝟐 − 𝒚𝟏

=
𝒙 − 𝒙𝟏
𝒙𝟐 − 𝒙𝟏

Fj;Jf;Nfhl;bd; rkd;ghL
𝐦 =

𝐲𝟐 − 𝐲𝟏
𝐱𝟐 − 𝐱𝟏

; 𝐦𝟏𝐱𝐦𝟐 =− 𝟏; 𝐲 − 𝐲𝟏

= 𝐦(𝐱 − 𝐱𝟏)
ngh. ,yl;Rkp fhe;jd;> gl;ljhhp
Mrphpah; (fzpjk;)

ehtyh; NrhkRe;ju ghujpahh; khefuhl;rp
Nky;epiyg;gs;sp> goq;fhej;jk;> kJiu

jpz;k cUis tisgug;G= 𝟐𝛑𝐫h r.myFfs;

nkhj;j Gwg;gug;G= 𝟐𝛑r(h+r) r.myFfs;
fdmsT = 𝛑𝐫𝟐𝐡 f.myFfs;

cs;sPlw;w cUis tisgug;G = 𝟐𝛑(𝐑 + 𝐫)𝐡 r.myFfs;
nkhj;j Gwg;gug;G= 𝟐𝛑(𝐑 + 𝐫)(𝐑 − 𝐫 + 𝐡) r.myFfs;
fdmsT = 𝛑(𝐑𝟐 − 𝐫𝟐)𝐡 f.myFfs;

jpz;k $k;G tisgug;G = 𝛑𝐫𝐥 r.myFfs;
nkhj;j Gwg;gug;G= 𝛑𝐫(𝐥 + 𝐫) r.myFfs;

fdmsT =
𝟏

𝟑
(𝛑𝐫𝟐𝐡) f.myFfs;

Nfhsk; tisgug;G = 𝟒𝛑𝐫𝟐r.myFfs;

fdmsT =
𝟒

𝟑
𝛑𝐫𝟑f.myFfs;

miuf; Nfhsk; tisgug;G = 𝟐𝛑𝐫𝟐 r.myFfs;

nkhj;j Gwg;gug;G = 𝟑𝛑𝐫𝟐 r.myFfs;

fdmsT =
𝟐

𝟑
𝛑𝐫𝟑f.myFfs;

,ilf;fz;lk; fdmsT =
𝛑𝐡

𝟑
(𝐑𝟐 + 𝐑𝐫 + 𝐫𝟐) f.myFfs;

tPr;R kw;Wk; tPr;Rf;nfO tPr;R 𝐑 = 𝐋 − 𝐒; tPr;Rf;nfO =
𝐋−𝐒

𝐋+𝐒

jpl;ltpyf;fk;
𝛔 =

𝐱𝟐∑

𝐧
−

𝐱∑

𝐧

𝟐

; 𝛔 = 𝐝𝟐∑

𝐧
−

𝐝∑

𝐧

𝟐
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ngh. ,yl;Rkp fhe;jd;> gl;ljhhp
Mrphpah; (fzpjk;)

mt;it khefuhl;rp ngz;fs; Nky;epiyg;gs;sp>
kJiu

Kjy; ,ay; vz;fspd; jpl;ltpyf;fk;

𝛔 =
𝐧𝟐 − 𝟏

𝟏𝟐

tpyf;f th;f;fr; ruhrhp
𝛔𝟐 =

𝐱𝟐∑

𝐧
−

𝐱∑

𝐧

𝟐

khWghl;Lf; nfO my;yJ khWghl;Lj;
jd;ik 𝐂. 𝐕. =

𝛔

𝐱ത
𝐱𝟏𝟎𝟎%

epfo;jfT
𝐏(𝐀) =

𝐧(𝐀)

𝐧(𝐒)
my;yJ (xUKiw te;J) kw;Wk;;
epfo;jfT 𝐏(𝐀) =

𝐧(𝐀)

𝐧(𝐒)
𝐏(𝐀 ∪ 𝐁) = 𝐏(𝐀) + 𝐏(𝐁) − 𝐏(𝐀 ∩ 𝐁)

my;yJ (,UKiw te;J) kw;Wk;
epfo;jfT 𝐏(𝐀) =

𝐧(𝐀)

𝐧(𝐒)
𝐏(𝐀 ∪ 𝐁 ∪ 𝐂) = 𝐏(𝐀) + 𝐏(𝐁) + 𝐏(𝐂) − 𝐏(𝐀 ∩ 𝐁) −
𝐏(𝐁 ∩ 𝐂) − 𝐏(𝐂 ∩ 𝐀) + 𝐏(𝐀 ∩ 𝐁 ∩ 𝐂)

,uz;L ehzaq;fs; S = {HH,HT,TH,TT}; n(S) = 4
%d;W ehzaq;fs; my;yJ xU
ehzak; %d;W Kiw

S= {HHH,HHT,HTH,HTT,THH,THT,TTH,TTT}
n(S) = 8

,uz;L gfilfs; S = {(1,1),(1,2),(1,3),(1,4),(1,5),(1,6)
(2,1),(2,2),(2,3),(2,4),(2,5),(2,6)
(3,1),(3,2),(3,3),(3,4),(3,5),(3,6)
(4,1),(4,2),(4,3),(4,4),(4,5),(4,6)
(5,1),(5,2),(5,3),(5,4),(5,5),(5,6)
(6,1),(6,2),(6,3),(6,4),(6,5),(6,6)};

n(S) = 36.
NCC my;yJ NSS

𝐏(𝐀) =
𝐧(𝐀)

𝐧(𝐒)
𝐏(𝐀 ∩ 𝐁ഥ) = 𝐏(𝐀) − 𝐏(𝐀 ∩ 𝐁)
𝐏(𝐀ഥ ∩ 𝐁) = 𝐏(𝐁) − 𝐏(𝐀 ∩ 𝐁)

ngh. ,yl;Rkp fhe;jd;> gl;ljhhp
Mrphpah; (fzpjk;)

mt;it khefuhl;rp ngz;fs; Nky;epiyg;gs;sp>
kJiu
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